
PRECIO INDEXADO CON CUOTA FIJA 
MENSUAL 

 

𝑇𝑃 = 𝑃𝐸 + 𝐶𝐴

https://www.boe.es/diario_boe/txt.php?id=BOE-A-2021-21208


 

https://www.boe.es/diario_boe/txt.php?id=BOE-A-2021-21794


 

𝑇𝐸 = ((𝑃𝐶 + 𝑂𝑆 + 𝑂𝑀 + 𝑆𝑆𝐴𝐴 + 𝑇𝐶 + 𝐶𝐴 + 𝐶𝐺) ∗ (1 + %𝑃𝐸𝑅𝐷) + 𝐹𝑁𝐸𝐸 + 𝐵𝑆)

∗ (1 + %𝑇𝑀) +  𝑃𝐸 + 𝐶𝐴

• 

• 

• 

• 

https://www.omie.es/es/market-results/daily/average-final-prices/hourly-price-consumers
https://www.omie.es/es/market-results/daily/average-final-prices/hourly-price-consumers
https://www.boe.es/diario_boe/txt.php?id=BOE-A-2021-21544
https://www.boe.es/diario_boe/txt.php?id=BOE-A-2021-21794


• 

• 

https://www.boe.es/diario_boe/txt.php?id=BOE-A-2021-21794
https://www.boe.es/diario_boe/txt.php?id=BOE-A-2021-21794
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https://www.boe.es/buscar/act.php?id=BOE-A-2004-4214


 


